
SECOND YEAR ACCOUNTANCY WITH CA    [GROUP II]

Maximum : 60 Scores
        Time : 2 hours

               Cool-off Time : 15 Minutes

General Instruction to Candidates :

• There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2 hrs.

• You are not allowed to write your answer nor to discuss anything with others during the
‘Cool off time’

• Use the Cool off time’ to get familiar with questions and to plan your answers.

• Read questions carefully before answering.

• When you select a question, all the sub-questions must be answered from the same question
itself.

• Calculations, figures and graphs should be shown in the answer sheet itself.

• Malayalam version of the questions is also provided.

• Give equations wherever necessary.

• Electronic devices expect non programmable calculators are not allowed in the Examination  Hall.

hnZ-ymÀ°n-IÄ¡pÅ s]mXp \nÀt±-i-§Ä :

• \nÀ±njvS 2  aWn-¡qÀ ka-b-̄ n\v ]pdsa 15 an\näv ‘IqÄ Hm v̂ ssSw’ D­m-bn-cn-¡pw.

• Cu ka-b¯v tNmZ-y-§Ä¡v D¯cw Fgp-Xm-t\m, aäp-Å-h-cp-ambn Bi-b-hn-\n-abw
\S-¯mt\m ]mSn-Ã.

• D¯-c-§Ä Fgp-Xp-¶-Xn\v ap¼v tNmZ-y-§Ä {i²m-]qÀÆw hmbn-¡-Ww.

• Hcp tNmZ-y-\-¼À D -̄c-sa-gp-Xm³ sXc-sª-Sp¯p Ign-ªmÂ D]-tNm-Z-y-§fpw AtX
tNmZy \¼-cnÂ \n¶p Xs¶ sXc-sª-Sp-t¡-­-Xm-Wv.

• IW¡v Iq«-ep-IÄ, Nn{X-§Ä, {Km^p-IÄ F¶nh D -̄c-t]-̧ -dnÂ Xs¶ D­m-bn-cn-¡-Ww.

• Bh-i-y-apÅ Øe¯v ka-hm-I-y-§Ä sImSp-¡-Ww.

• tNmZ-y-§Ä ae-bm-f-¯nepw \ÂIn-bn-«p-­v.

• t{]m{Km-ap-IÄsN-¿m-\m-Im¯ ImÂ¡p-te-ä-dp-IÄ Hgn-sI-bpÅ Hcp Ce-Ivt{Sm-WnIv
D]-I-c-Whpw ]co-£m-lm-fnÂ D]-tbm-Kn-¡p-hm³ ]mSn-Ã.
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PART - I

Answer all questions from 1 to 7 each gets 1 score.

1. Under fixed capital method interest on drawings should be shown in ........................
account.

2. Realisation account is prepared at the time of .....................................

a) Admission b) Retirement c) dissolution d) Death

3. Excess of actual profit over normal profit is called .........................

4. Gaining ratio = ...................... + .........................

5. The loss or gain on account of revaluation at the time of retirement is shared by ...............

a) Remaining partners b) All partners

c) Retiring partner d) New partner

6. Share of goodwill brought in by the incoming partner is called ............................ .

7. Profit on realisation is credited to ........................ account.

Answer any two questions from 8 to 10, each gets 2 score.

8. In the absence of partnership deed, what will be the treatment relating to profit sharing
and interest on advance.

9. A, B & C are partners sharing profit and losses in the ratio of 3:2:1. B retires from the
business and his share was acquired by A & C in the ratio of 1:1. Calculate gaining ratio.

10. Average profit of the business is Rs. 12000/- and a normal profit is Rs. 10000/-. Calculate
goodwill for 3 year’s purchase of super profit.

Answer any one questions from 11 to 12, each gets 3 score.

11. Difference between dissolution of firm and dissolution of partnership.

12. Manu &  Binu are partners sharing profit & losses in the ratio of 3:2. Balance in their
capital account on Ist Jan, 2021 was Manu  Rs. 60,000/- & Binu Rs. 40,000/-. On Ist

April. 2021 Manu introduced an additional capital of Rs. 20,000/- and Binu introduced
an additional capital of Rs. 5,000/- on Ist July 2021. Calculate interest on capital @
6% per annum for the year ending 31st Dec. 2021.
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1 apXÂ 7 hsc-bpÅ FÃm tNmZ-y-§Ä¡pw D -̄c-sa-gp-Xp-I. 1 kvtImÀ hoXw

1. ^nIvkUv Iym-]n-äÂ coXn {]Imcw CsâdÌv Hm¬ t{UmbnwKvkv ImWn-¡p-

¶Xv ................................. A¡u-­n-em-Wv.

2. dnb-sse-tk-j³ A¡u­v X¿m-dm-¡p-¶Xv .................................... ka-b-¯m-Wv.

a) AUvan-j³ b) dn«-bÀsasâ v c) Unskm-eq-j-y³ d) sU¯v

3. bYmÀ° em`hpw km[m-cW em`hpw X½n-epÅ hy-X-ym-k-¯ns\ .......................

F¶p ]d-bp-¶p.

4. sKbn-\nwKv A\p-]mXw =  .......................  þ ........................

5. Hcp ]¦m-fn-bpsS hnc-an-¡Â ka-b¯v ]p\À aqey \nÀ®b A¡u­v {]Im-

c-apÅ em`tam \jvStam ]¦phbv¡p-¶Xv þ

a) tijn-¡p¶ ]¦m-fn-IÄ b) FÃm ]¦m-fn-Ifpw

c) hnc-an-¡p¶ ]¦m-fn-IÄ d) ]pXnb ]¦m-fn-IÄ

6. ]pXp-Xmbn hcp¶ ]¦mfn sIm­p h-cp¶ kÂt¸-cnsâ hnln-Xs¯

................................ F¶p-]-d-bp-¶p.

7. dnb-sse-tk-j³ A¡u-­nse em`w ............................... A¡u-­n-emWv

s{IUnäv sN¿p-¶-Xv.

8 apXÂ 10 hsc-bpÅ tNmZ-y-§-fnÂ \n¶pw GsX-¦nepw cs­-®-̄ n\v D -̄c-sa-gp-Xp-I.

Hmtcm tNmZ-y-¯n\pw c­p kvtImÀ hoXw.

8. ]mÀWÀjn v̧ UoUnsâ A`m-h-̄ nÂ em -̀hn-ln-X-hpw, Câ-dÌv Hm¬- A-U-zm³kpw

............................., .............................. BWv.

9. A bpw B bpw C bpw ]¦m-fn-I-fm-Wv. Ah-cpsS em`-\jvS A\p-]mXw 3:2:1. B
_n-kn-\-ÊnÂ \n¶pw hnc-an-̈ p. B -bpsS hnlnXw1:1 A\p-]m-X-̄ nÂ A bpw C bpw t\Sp-

I-bm-sW-¦nÂ Ah-cpsS t\« A\p-]mXw IW¡m-¡p-I.

10. _nkn-\-Ênsâ icm-icn em`w 12,000/þ cq]bpw km[m-cW em`w 10,000/þ BWv. A[nI

em -̀̄ nsâ aq¶p hÀjs¯ ]Àt -̈knsâ KpUvhnÂ IW-¡m-¡p-I.

11 apXÂ 12 hsc-bpÅ tNmZ-y-§fnÂ \n¶pw Hsc-®-¯n\v D -̄c-sa-gp-Xp-I.  3 kvtImÀ

11. Unskm-eq-j-y³ Hm^v t^apw Unskm-eq-j-y³ Hm^v ]mÀ«vWÀjn¸pw X½n-

epÅ hy-X-ymkw Fgp-Xp-I.

12. a\phpw _n\phpw ]¦m-fn-I-fm-Wv. Ah-cpsS em -̀\jvS A\p-]mXw 3:2. 1þ1-þ2021 {]Imcw

Ah-cpsS aqe-[\w 60,000/-þ Dw 40,000/þ Dw BWv. 1.4.2021-þÂ a\p 20,000/þ cq]bpw

1.7.2021-þÂ _n\p 5000/þ cq]bpw A[nI aqe-[-\-ambn sIm­p-h-¶p. aqe-[-\-¯nsâ

]eni 6% p.a BsW-¦nÂ 31st   Unkw-_À 2021-þÂ Ah-cpsS aqe-[-\-¯nsâ

]eni IW-¡m-¡p-I.
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Answer 13 and 14, each carries 4 scores

13. List out the varuiys adjustment required in the accounts of a firm on retirement of a
partner (6 points).

14. The profit earned by a firm during the last 4 years are given below.

Year 2019 2020 2021 2022

Proft 10000 12500 15000 20000

The capital employed in the business was Rs. 4,00,000/-.  The normal rate of return is
20%.  Calculate the value of goodwill under capitalisation of super profit.

Answer the following questions from 15to 16, each gets 5 score.

15. Divya withdraw Rs. 10,000/- per month from the business for her personal use during
the year ending 31st March 2015. Calculate interest on drawings @ 8% per annum in
the following situations.

a) When the amount is withdrawn  at the beginning of each month.

b)When the amount is withdrawn at the middle of each month.

c) When the amount is withdrawn at the end of each month.

16. Arun, Varun and Nikhil are partners in the firm. Varun decided to retire from the
firm. On the date of retirement Rs. 1,00,000/- becomes due to him. Arun & Nikhil
promises his to pay the amount in 5 equal yearly installments plus interest @ 12% per
annum on the unpaid balance.  Prepare Varun’s Loan Account.

Answer any one question from 17 to 18, each gets 8 score.

17. Rahul and Rahim are partners who share profits and losses equally.  They decided to
dissolve the firm with effect from 1st January, 2023, on which date their position was
as under.

Libilities Rs. Assets Rs.

Sundry Creditors 6000 Cash at Bank 2600

Reserve 4600 Sundry Debtors 4500

Capitals: Stock 6800

   Rahul 6000 Plant & Machinery 11700

   Rahim 9000

25600 25600

Debtors realised Rs. 3800, Plant Rs. 11,500 and Stock Rs. 6,100. Creditors
were paid 10% less and the expenses of realisation amounts to Rs. 400.

Prepare Realisation A/c, Capital A/c of partners and Bank A/c.
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13 apXÂ 14 hsc-bpÅ tNmZ-y-§Ä¡v D¯-c-sa-gp-XpI . \mep kvtImÀ hoXw

13. Hcp ]¦m-fn-bpsS hnc-an-¡-ep-ambn _Ô-s¸« ]¦m-fn¯ Øm]-\-¯nsâ A¡u-
­p-Ifpw Bh-i-y-amb hnhn[ {Iao-I-c-W-§fpw Fgp-Xp-I. (G-sX-¦nepw 6 F®w)

14. Hcp Øm]-\-¯nsâ Ah-km\ \mep hÀjs¯ em`w C{]-Im-c-am-Wv.

hÀjw em`w

2019 10-,000

2020 12,500

2021 15,000

2022 20,000

Øm]-\-̄ nÂ 4,00,000/þ cq] aqe-[-\-ambn \nt£-]n-̈ n-«p-­v. aqe-[-\-̄ nsâ
km[m-cW hcp-am\ \nc¡v 20% BWv. Iym-]n-ä-sse-tk-j³ coXn-bnÂ KpUvhnÂ IW-
¡m-¡p-I.

15 apXÂ 16 hsc-bpÅ tNmZ-y-§Ä¡v D¯-c-sa-gp-Xp-I. 5 kvtImÀ hoXw.

15. amÀ¨v 31, 2015 Ah-km-\n-¡p¶ hÀj-¯nÂ þ

Znhy FÃm amkhpw 10,000 cq] kz´w Bh-i-y-¯n-\mbn ]n³h-en-¨p. 8% X³s]äp
]eni Xmsg ]d-bp¶ kml-N-c-y-¯nÂ IW-¡m-¡p-I.

a) FÃm amk¯nsâbpw Bcw-`-¯nÂ ]n³h-en-¡p-I-bm-sW-¦nÂ.

b) FÃm amk-¯nsâbpw Ah-km-\-¯nÂ ]n³h-en-¡p-I-bm-sW-¦nÂ.

c) FÃm amk-¯nsâbpw ]Ip-Xn-bnÂ ]n³h-en-¡p-I-bm-sW-¦nÂ.

16. Acp¬, hcp¬, \nJnÂ aq¶p ]¦m-fn-I-fm-Wv. hcp¬ hnc-an-¡m³ Xocp-am-\n-̈ p. hnc-
an-¡Â ka-b¯v hcp-Wn\v 1,00,000 cq] sImSp-¡m-\p-­v. AcpWpw \nJnepw Cu
XpI 5 Xh-W-I-fmbn 12% ]en-i-bnÂ sImSp-¡m-sa¶p Xocp-am-\n-̈ p. hcp-Wnsâ tem¬
A¡u­v X¿m-dm-¡p-I.

17 apXÂ 18 hsc-bpÅ tNmZ-y-§fnÂ GsX-¦nepw Hsc-®-̄ n\v D -̄c-sa-gp-Xp-I. 8 kvtImÀ

17. cmlp-epw, dlnapw Xpey ]¦m-fn-I-fmWv. 2023 P\p-hcn 1þmw XobXn Xmsg ]d-bp¶
hy-h-Ø-IÄ {]Imcw Ah-cpsS Øm]\w ]ncn¨phnSm³ Xocp-am-\n-̈ p. Øm]-\-̄ nsâ

_me³kvjoäv Xmsg sImSp-¡p-¶p.

_me³kv joäv

    _m²-y-X-IÄ XpI BkvXn-IÄ  XpI

k¬{Sn s{IUn-tägvkv 6000 Iymjv Aäv _m¦v 2600

dnkÀhv 4600 k¬{Sn sU_vtägvkv 4500

Iym-]n-äÂ: tÌm¡v 6800

   cmlpÂ 6000

  dlnw 9000 ¹mâ v Bâ v sajn-\dn 11700

25600 25600

Øm]-\-¯nsâ BkvXn-IÄ bYm-{Iaw, sU_vtägvkv þ 3800, ¹mâ v Bâ v sajn-
\dn þ 11500, tÌm¡v 6100 F¶o {Ia-¯nÂ ]ncn-ªp-In-«n. {IUn-tägvkv XoÀ¸m-¡p-¶-XnÂ
10% Cfhv In«n. dnb-sse-tk-j³ Nne-hp-IÄ 400 cq]. Øm]-\-¯nsâ dnb-sse-tk-j³
A¡u­v, Iym-]n-äÂ A¡u­v , _m¦v A¡u­v F¶nh X¿m-dm-¡p-I.
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18. Amal & Anil are partners sharing profits and losses in the ratio 3:2. Their Balance Sheet
as on 31st Dec. 2022 is given below.

Balance sheet as on 31st Dec. 2022

Libilities Rs. Assets        Rs.

Sundry Creditors 20000 Cash at Bank   3000

Bill Payable 10000 Sundry Debtors   8000

Capitals: Stock in trade   9000

  Amal    30,000 Furniture 15000
          Anil      20,000 50000 Land & Building 25000

Plant & Machinery 15000

Profit & Loss A/c   5000

80000 80000

They admit Anitha as a new partner for a 1/6 th share in future profits on the
following terms.

1. The new partner bring Rs. 25,000 as his capital and Rs. 3000 as premium for
goodwill.

2. Provide 5% on debtors as provision for doubtful debts.

3. Stock in trade is appreciated by Rs. 2,000.

4. Provide 5% depreciation on furniture.

5. There is an unexpired insurance charge of Rs. 850 is found.

Prepare revaluation A/c, Capital Account of partners and also prepare Balance
Sheet after the admission of Anitha.
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18. Aaepw A\nepw 3: 2 F¶ A\p-]m-X-¯nÂ em`hpw \jvShpw hoXn-¡p-¶p.

Øm]-\-¯nsâ 31-þ12-þ2022-þse _me³kv joäv Xmsg sImSp-¡p-¶p.

_me³kvjoäv 31-þ12-þ2022

    _m²-y-X-IÄ XpI BkvXn-IÄ  XpI

k¬{Sn s{IUn-tägvkv 20000 Iymjv  3000

_nÂkvt]-b-_nÄ 10000 k¬{Sn sU_vtägvkv  8000

Iym-]n-äÂ: tÌm¡v  9000

    AaÂ  þ  30,000 ^ÀWn-̈ À 15,000

    A\nÂ þ  20,000 50000 emâ v & _nÂUnwKv 25000

¹mâpw sajn-\-dnbpw 15000

t{]m-^näv Bâ v temÊv  5000

80,000 80,000

Xmsg ]d-bp¶ hy-h-Ø-IÄ {]Imcw 1/6 em`-hn-ln-X-¯n\v A\n-X-sb¶

]pXnb ]¦m-fnsb tNÀ¡p-¶p.

1. ]pXnb ]¦mfn 25000 cq] Iym-]n-ä-embpw 3000 cq] KpUvhnÂ Bbpw sIm­p-h-cp-¶p.

2. sU_vtä-gvkn\v 5% s{]mhn-j³ hbv¡p-I.

3. tÌm¡v 2000 IqSn hÀ²n-¡p-¶p.

4. ^ÀWn-¨-dn\v 5% Un{]n-kn-tb-j³ ImWp-I.

5. C³jp-d³kv ap³Iq-dmbn AS-¨Xv 850 cq].

A\n-X-bpsS AUvan-j\p tij-apÅ dohm-eyp-th-j³ A¡u-­v, Iym]n-äÂ

A¡u-­v, _me³kv joäv F¶nh X¿m-dm-¡p-I.
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PART - II

COMPUTERISED ACCOUNTING

Write any 2 questions  from 19 to 21 each gets 1 score.

19. Intersection of rows and columns are called ................................

20. .................. is a facility in Calc to make restrictions on type of data entering into a cell.

21. There are ........................... system generated ledger account in GNU Khata.

Answer the following question gets 2 score.

22. Advantages of Computerised Accounting System.

Answer the following question gets 3 score.

23. Explain the merits of a chart.

Answer the following questions  from 24 to 25, each gets 4 score

24. Explain any 4 mathematical functions.

25. Write down the two methods of depreciation with syntax

Answer any one question from 26 to 17, gets 5 score.

26. Briefly explain the components of CAS.

27. Write down the steps involved in an organisation ‘Company creation’ in GNU Khata.
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PART - II

COMPUTERISED ACCOUNTING

19 apXÂ 21 hsc-bpÅ tNmZ-y-§Ä¡v GsX-¦nepw cs­-®-¯n\v D¯-c-sa-gp-Xp-I. 1

kvtImÀ hoXw.

19. hcnbpw \ncbpw IqSn-t¨-cp-¶-Xns\ ............................. F¶p hnfn-¡p-¶p.

20. Hcp skÃnÂ Umä FsâÀ -sN-¿p-¶-Xn-\pÅ XS-Ê-§Ä¡v ImÂ¡nÂ ....................

F¶p ]d-bp-¶p.

21. Pn\p-Im-¯-bnÂ knÌw sP\-td-äUv A¡u-­p-I-fpsS F®w ............. BWv.

22-þm-as¯ tNmZ-y-¯n\v D¯-c-sa-gp-Xp-I. 2 kvtImÀ.

22. Iw]-yq-«-ssdkvUv A¡u-­nwKv knÌ-¯nsâ ta·-IÄ Fs´-Ãmw.

23-þm-as¯ tNmZ-y-¯n\v D¯-c-sa-gp-Xp-I. 3 kvtImÀ.

23. NmÀ«nsâ ta·-IÄ hnh-cn-¡p-I.

24 apXÂ 25 hsc-bpÅ tNmZ-y-§Ä¡v D¯-c-sa-gp-Xp-I. 4 kvtImÀ hoXw.

24. GsX-¦nepw 4 am¯-am-än-¡Â ^wKvj³kv hnh-cn-¡p-I.

25. tXbvam-\-̄ nsâ c­p coXn-IÄ kn³U-Ivknsâ klm-b-t¯msS hnh-cn-¡p-I.

26 apXÂ 27 hsc-bpÅ GsX-¦nepw Hcp tNmZ-y-¯n\vv D¯-c-sa-gp-Xp-I.

26. CAS - sâ LS-I-§Ä Npcp¡n hnh-cn-¡p-I.

27. Pn\p-Im-¯-bnÂ I¼\n {Intb-jsâ sÌ¸p-IÄ hnh-cn-¡p-I.
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